=

O
Q
o
o
<
=
<
=
Thy
=
=

11  W..DR/DT

11.1 W, WF, WA, WAF..DR/DT

WEF..DR/DT..

%/ WAF..DR/DT..

491




492

W..

W..DR/DT
- DR/DT

11.2 W.. - DR/DT

W10, Ng = 1400 1/min 25 Nm

Na  |Mamax| Fra |9 R i DTS56
[M/min] | [Nm] | [N] | [']

19 25 1800 - | 75.00*

23 25 1800 - | 60.00*

29 25 1800 - | 48.00*

36 25 1800 - [ 39.00*

43 25 1800 - | 32.50*

51 24 1800 - [ 27.50*

57 25 1800 - | 24.50*

72 25 1800 - [ 19.50*

85 20 1800 - [ 16.50*

98 22 1800 - [ 1433

137 13 1800 - [10.25*

171 12 1800 - | 8.20

213 12 1720 - | 657
W20, Ng = 1400 1/min 40 Nm

N2 |Mamax| Fra | (R) i DR63
[/min]| [Nm] | [N] |['] DT71

19 40 2200 - | 75.00*

23 40 2200 - | 60.00*

29 40 2200 - [ 48.00*

36 40 2200 - [ 39.00*

43 40 2200 - | 32.50*

51 40 2200 - | 27.50*

57 40 2200 - | 24.50*

72 35 2200 - [ 19.50*

85 30 2200 - [ 16.50*

98 30 2110 - [ 1433

137 25 1920 - [10.25*

171 20 1830 - | 8.20

213 20 1720 - | 657
W30, ng = 1400 1/min 70 Nm

Ng  |Mamax| Fra |9 (R) i DR63 DT80
[1/min] | [Nm] [N] ['1 DT71

19 70 3000 - | 75.00*

23 70 3000 - | 60.00*

29 70 3000 - | 48.00*

36 70 3000 - [ 39.00*

43 70 3000 - | 32.50*

51 70 3000 - | 27.50*

57 70 3000 - | 24.50*

72 70 3000 - [ 19.50*

86 60 3000 - [ 16.33

98 60 3000 - [ 1433

137 50 2950 - [10.25*

171 40 2810 - | 8.20

213 40 2590 - | 657

— GM2004




W..DR/DT

W..D.. [KW]
11.3 W..D.. [kW]
—
Pm n, M, i FRa1) SEW fg ot E] m m
[kW] [1/min] [Nm] [N] H [ka] )
0.09 17 20 75.00* 1800 125
22 18 60.00* 1800 145
27 16 48.00* 1800 155
33 15 39.00* 1800 1.70
40 13 32.50° 1800 19 10 DT seMa 53 497
47 12 27.50 1800 21
. WF 10 DT  56M4 55 498
53 11 24,50 1800 23
. WA 10 DT  56M4 53 499
67 94 19.50 1800 27 WAF 10 DT 56M4 55 498
79 8.4 16.50* 1800 24 :
91 7.6 14.33 1800 2.9
127 538 10.25* 1800 22
159 48 8.20* 1800 25
198 40 6.57 1800 3.0
0.12 12 40 75.00* 3000 175 W 30 DR 63M6 91 503
15 38 60.00* 3000 185 WF 30 DR  63M6 94 504
28 25 32.50* 3000 28 WA 30 DR  63M6 88 505
33 24 27.50* 3000 30  WAF 30 DR  63M6 91 504
18 28 75.007 3000 25w 30 DR 6354 91 503
23 26 60.00 3000 27
. WF 30 DR 6354 94 504
29 23 48.00 3000 31
. WA 30 DR 6354 88 505
35 21 39.00 3000 34 WAF 30 DR 6354 91 504
42 17 32.50* 3000 41 :
12 36 75.00* 2200 110 W 20 DR 63M6 66 500
15 32 60.00* 2200 125 WF 20 DR  63M6 68 501
28 27 32.50* 2200 150 WA 20 DR  63M6 63 502
33 22 27.50* 2200 180  WAF 20 DR  63M6 63 501
18 25 75.00" 2200 1.60
23 22 60.00* 2200 1.80
29 20 48.00* 2200 1.95
35 19 39.00* 2200 22
42 18 32.50° 2200 22w 20 DR 6354 66 500
50 15 27.50 2200 26
. WF 20 DR 6354 68 501
56 14 24.50 2200 2.9
. WA 20 DR 63S4 63 502
n 12 19.50 2200 29 waF 20 DR 6354 63 501
84 10 16.50* 2200 2.9 :
96 9.5 14.33 2200 32
135 7.2 10.25% 2140 35
168 59 8.20* 1990 34
210 49 6.57 1890 41
17 27 75.00* 1800 095
22 23 60.00* 1800 1.05
27 21 48.00* 1800 115
33 20 39.00* 1800 1.30
40 18 32.50° 1800 140 10 0T seL4 53 407
47 16 27.50 1800 155
. WF 10 DT  56L4 55 498
53 15 24,50 1800 170
. WA 10 DT  56L4 53 499
67 13 19.50 1800 20 wAF 10 DT  56L4 55 498
79 11 16.50* 1800 1.80 :
91 10 14.33 1800 22
127 7.7 10.25* 1800 170
159 6.3 8.20* 1800 1.90
198 53 6.57 1800 23
0.18 12 62 75.00* 3000 115 W 30 DR  63L6 98 503
15 58 60.00* 3000 120 WF 30 DR 63L6 10 504
27 39 32.50* 3000 180 WA 30 DR 63L6 95 505
32 37 27.50* 3000 190  WAF 30 DR 63L6 98 504

— GM2004

493



494

J—
Pm ny M, i FRa1) SEW fg — E] m m
[kW] [1/min] [Nm] [N] H= [ka]

0.18 18 44 75.00" 3000 160

22 40 60.00* 3000 175
28 35 48.00* 3000 2.0
34 32 39.00* 3000 22
41 27 32.50° 3000 26\ 30 DR 63M4 o1 503
48 25 27.50 3000 28
. WF 30 DR  63M4 94 504
54 23 24,50 3000 3.0
. WA 30 DR  63M4 88 505
68 20 19.50 3000 36 waF 30 DR  63M4 91 504
81 17 16.33 3000 3.6 :
92 15 14.33 3000 3.9
129 12 10.25* 3000 43
161 95 8.20* 3000 42
201 7.9 6.57 2950 5.1
1M1 12 24 50" 3000 5.9
139 9.9 19.50* 3000 71 W 30 DR 63S2 91 503
167 8.5 16.33 3000 71 WF 30 DR 63S2 94 504
190 77 14.33 3000 78 WA 30 DR 63S2 88 505
265 5.7 10.25% 2710 88  WAF 30 DR 63S2 91 504
332 47 8.20* 2520 8.5
15 49 60.00* 2200 080 W 20 DR 63L6 73 500
32 35 27.50* 2200 115 WF 20 DR 63L6 74 501
45 27 19.50* 2200 130 WA 20 DR 63L6 70 502
WAF 20 DR 63L6 70 501
18 39 75.00* 2200 1.00
22 34 60.00* 2200 115
28 32 48.00* 2200 1.25
34 29 39.00* 2200 1.40
41 28 32.50" 2200 140\ 20 DR 63M4 66 500
48 24 27.50 2200 1.70
. WF 20 DR 63M4 68 501
54 22 24.50 2200 185
. WA 20 DR  63M4 63 502
68 19 19.50 2200 190 wWaF 20 DR 63M4 63 501
80 16 16.50* 2200 185 :
92 15 14.33 2200 2.0
129 11 10.25* 2110 22
161 9.2 8.20* 1970 22
201 77 6.57 1890 26
1M1 11 24 50° 2200 36
139 9.4 19.50* 2070 37 W 20 DR 63S2 66 500
165 8.2 16.50* 1970 37  WF 20 DR 63S2 68 501
190 75 14.33 1890 40 WA 20 DR 63S2 63 502
265 5.6 10.25* 1710 45  WAF 20 DR 63S2 63 501
332 46 8.20* 1590 44
0.25 12 86 75.00° 3000 080 20 0T 7106 » 03
15 80 60.00 3000 090
. WF 30 DT 71D6 11 504
27 53 32,50 3000 1.30
. WA 30 DT 71D6 10 505
36 47 24,50 3000 150 WAF o RS > o
45 40 19.50* 3000 175
17 62 75.00* 3000 115
22 57 60.00* 3000 1.25
27 50 48.00* 3000 1.40
33 45 39.00* 3000 155
40 38 32.50" 3000 185 20 DR 63L4 08 503
47 35 27.50 3000 2.0
. WF 30 DR 63L4 10 504
53 33 24,50 3000 21
. WA 30 DR 63L4 95 505
67 28 19.50 3000 25 waF 30 DR 63L4 98 504
80 24 16.33 3000 25 :
91 22 14.33 3000 28
127 16 10.25* 3000 31
159 13 8.20* 3000 3.0
198 11 6.57 2940 3.6
109 17 24.50° 3000 42
136 14 19.50* 3000 50 W 30 DR  63M2 91 503
163 12 16.33 3000 50 WF 30 DR  63M2 94 504
186 11 14.33 3000 55 WA 30 DR  63M2 88 505
260 8.1 10.25* 2700 62  WAF 30 DR  63M2 91 504
324 6.6 8.20* 2520 6.1

— GM2004




W..DR/DT 11

W..D.. [KW]
Pm Na M, i Fra  SEWfg R ] m
kW]  [1/min] [Nm] IN] E%, H kgl <
0.25 32 48 27.50* 2200 085
36 43 24.50" 2200 090 . 20 0T 7106 62 500
45 37 19.50 2200 095
61 30 14.33 2200 100 WF 20 DT  71D6 84 501
2 WA 20 DT 71D6 79 502
86 23 10.25 2200 110 war 20 DT 71D6 79 501
107 19 8.20* 2130 1.05 :
134 15 6.57 2100 135
22 48 60.00" 2200 085
27 45 48.00* 2200  0.90
33 41 39.00* 2200 1.00
40 40 32.50* 2200 1.00
47 34 27.50* 2200 120 W 20 DR 63L4 73 500
53 30 24.50* 2200 130  WF 20 DR 63L4 74 501
67 26 19.50* 2200 135 WA 20 DR 63L4 70 502
79 23 16.50* 2200 130  WAF 20 DR 63L4 70 501
91 21 14.33 2200 145
127 16 10.25* 2050 1.60
159 13 8.20* 1920 155
198 11 6.57 1870 185
82 21 32.50° 2200 195
97 17 27.50* 2200 23
109 16 24.50* 2150 26 W 20 DR  63M2 66 500
136 13 19.50* 2020 26 WF 20 DR  63M2 68 501
161 12 16.50* 1930 26 WA 20 DR  63M2 63 502
186 11 14.33 1860 28  WAF 20 DR  63M2 63 501
260 7.9 10.25* 1680 32
324 6.5 8.20* 1570 3.1
0.37 18 86 75.00* 3000 080
23 80 60.00* 3000 090
29 69 48.00* 3000 1.00
35 63 39.00* 3000 1.10
42 53 32.50° 3000 130 20 0T 7104 » 503
50 49 27.50 3000 1.40
. WF 30 DT 71D4 11 504
56 46 24,50 3000 155
. WA 30 DT 71D4 10 505
n 39 19.50 3000 180 \waF 30 DT 71D4 11 504
84 33 16.33 3000 1.80
96 30 14.33 3000 2.0
135 23 10.25* 3000 22
168 19 8.20* 3000 21
210 16 6.57 2840 26
108 25 24 50° 3000 28
136 21 19.50* 3000 34 W 30 DR 63L2 98 503
162 18 16.33 3000 34  WF 30 DR 63L2 10 504
185 16 14.33 2940 37 WA 30 DR 63L2 95 505
259 12 10.25* 2660 41 WAF 30 DR  63L2 98 504
323 9.9 8.20* 2480 40
50 47 27.50" 2200 085
56 43 24.50* 2200 095
71 37 19.50* 2190 095 W 20 DT 71D4 82 500
84 32 16.50* 2110 095 WF 20 DT 71D4 84 501
96 29 14.33 2070 100 WA 20 DT 71D4 79 502
135 22 10.25* 1900 115  WAF 20 DT 71D4 79 501
168 18 8.20* 1800 110
210 15 6.57 1780 1.30
108 23 24 50" 2030 1.70
136 20 19.50* 1920 175 W 20 DR  63L2 73 500
161 17 16.50* 1840 175 WF 20 DR 63L2 74 501
185 16 14.33 1780 190 WA 20 DR  63L2 70 502
259 12 10.25% 1630 21  WAF 20 DR  63L2 70 501
323 9.6 8.20* 1530 21

— GM2004 495




496

Pm Na M, i Fra  SEWfg R ] m
kW]  [1/min] [Nm] IN] E%, H kgl <
0.55 49 74 27.50% 3000 095
56 69 24.50 3000 100\ 20 DT BoKa 2 503
83 50 16.33 3000 1.20
95 46 14.33 3000 130 WF 30 DT  80K4 13 504
} WA 30 DT  80K4 12 505
133 34 10.25 3000 145 W 3 oT Soka JE =y
166 28 8.20* 2910 1.40
207 24 6.57 2780 1.70
110 36 24.50% 3000 1.95
138 31 19.50* 3000 23 W 30 DT 71D2 1 503
165 26 16.33 2930 23 WF 30 DT 71D2 1 504
188 24 14.33 2830 25 WA 30 DT 71D2 10 505
263 18 10.25* 2570 28  WAF 30 DT 71D2 1 504
329 14 8.20* 2410 28
110 34 24.50% 1830 1.20
138 29 19.50* 1750 120 W 20 DT 71D2 82 500
164 25 16.50* 1700 120 WF 20 DT 71D2 84 501
188 23 14.33 1660 130 WA 20 DT 71D2 79 502
263 17 10.25* 1530 145  WAF 20 DT 71D2 79 501
329 14 8.20* 1450 1.40
0.75 84 68 16.33 3000 090 20 0T sona s 503
96 61 14.33 3000 1.00
135 46 10.25* 2940 110 WF 30 DT  80N4 14 504
A WA 30 DT  80N4 13 505
168 38 8.20 2780 105 W 30 oT SoNa =y
210 32 6.57 2690 1.25
98 53 27.50% 3000 1.30
110 49 24.50* 3000 140 W 30 DT 80K2 12 503
165 36 16.33 2810 170 WF 30 DT 80K2 13 504
188 32 14.33 2730 185 WA 30 DT 80K2 12 505
263 24 10.25* 2500 21 WAF 30 DT 80K2 12 504
329 20 8.20* 2350 2.0
11 98 78 27.50% 2830 0.90
110 72 24.50* 2780 095 W 30 DT  8ON2 14 503
165 52 16.33 2600 115 WF 30 DT  8ON2 14 504
188 47 14.33 2550 125 WA 30 DT  8ON2 13 505
263 35 10.25* 2370 140  WAF 30 DT  8ON2 14 504
329 29 8.20* 2240 1.40

— GM2004




11.4 W .[mm]

W10..

LS

45 44 74 LBS |
LB

S N

ADS

AD

82.5

82.5

45 o4

6.6

17.5
6
Q
=
>

275 | |
1

103
75
55
20
&
IR
: 22 _|
Hm [ ] W
5

20 001 01 01

M6

2164

S
185
65 _|_50_|

18

016 4

DIN 332
DR M5

(~ [] 102)| DTS..
AC 109
AD 87
ADS 87
L 255
LS 291
LB 136
LBS 172

— GM2004

497




[mm]
WF10.. LS 20 004 01 01
|
45 74 LBS ADS
LB .40 AD
40
—%f | S 5 2_|4 &
o 7 :@EW***‘*Q | © - 1
0 ot EZ( | y |
DIN 332
75 78 DR M5
o 80 105
7 .40
UED
—— =g
WAF10..
&
(]
o 80 E?L%« 33’»’»«
ol A .
2 6.5 T2.5 r 3
7 _ s -
=1 e
(~ [1] 102)| DTS..
AC 109
AD 87
ADS 87
L 255
LS 291
LB 136
LBS 172
— GM2004

498




WA1 OII

LS
L ‘ ADS
45 04, 74 LBS | 45 AD
LB
[{o]
U/ i ‘ <
TS DY ]Lgﬁwo
8| g m@ & B 13
— N W E J
1] ﬁi | ——
af o 66
20| | 65 ‘
2715 | | 78
I
55
75
o 1617
5 L4242
@ ié & $
® | )
21617 J
L
IS0 4017 69
M5x12-8.8
(- [1] 102)| DT56..
AC 109
AD 87
ADS 87
L 255
LS 291
LB 136
LBS 172
— GM2004

499



20 002 02 01

W20.. LS ADS
L AD

50 101 LBS ‘ 90 90
LB % _

W - -2

LLJTFFW\
\
9206
M6

118
| 80
R
20
23
I
H [T 11
5
(L
|
] —

—
[S)
=
)
S
o
=)
—y
yl
v

225
\
[
|

L 3205

DIN 332
DR M6

(~ [] 102)| DR63.. | DT71D
AC 132 145
AD 105 122
ADS 105 127
L 300 315
LS 355 378
LB 149 164
LBS 204 227

500 — GM2004




DIN 332
DR M6

=
(=2 o ~
e 2ol |
o <
[T'p)
o
(= 28 |
(=] |
N
w0
CF4
¥z o
|
w
al o
<< | <C O [e)
o
2 7
—Aln. (o) (@]
v
_r
7
I 7
@ 7
=
—
=
o @)
- [T 1T
- L] L]
=
)
3 \sd fof
=)
n 0S
w 8l

120

8,40

o120

11

84

g 20"

8'ce

————

0e o

1SO 4017
M6x16-8.8

50

50

11

84

WAF20..

g 18"

———-—

ISO 4017
M6x16-8.8

0120

o 110

DT71D

145

122
127
315
378

164
227

132
105
105
300
355
149
204

(~ [1] 102)| DRe3..

AC

AD

ADS

LS
LB

LBS

501

— GM2004




502

WA20--

20 008 02 01

WA20/T..

LS
50 95, 101 LBS 52.5
LB 95
|
[{o]
A=t = =
o SN — L 1
Plol o iy q;\Q %@EW é 7‘7 1
—|®o| © E ) 1 ‘
5 | ——7 ' P
1g : i
b~ 566 066
20| | 75
20| 90
60
80
o 1817 o 20 W7
6 50 6
o ' i 8 © ' i 8 !
3 4 2] RG] o °
b Tt ! - Ja20™ f
— - e ————
1SO 4017 84 1SO 4017
M6x16-8.8 M6x16-8.8
(- [I] 102)| DR63.. | DT71D
AC 132 145
AD 105 122
ADS 105 127
L 300 315
LS 355 378
LB 149 164
LBS 204 227
— GM2004




20 003 02 01
W30.. LS ADS
L ‘ AD
63, 112 s | 102 102
LB 116
\
Y B e =
e S :gﬁw———\& | \§ -
<1 o -
R e e A L
e < fﬁ—Pﬁj{ o é 1 RS
} 09 59 255
30 |
90 _| 565
35| 107
70
100
40

22,5
[
|

L 20

DIN 332
DR M6

(~ [] 102)| DR63.. | DT71D | DT80..
AC 132 145 145
AD 105 122 122
ADS 105 127 127
L 324 339 389
LS 379 402 452
LB 149 164 214
LBS 204 227 277

— GM2004 503




[mm]
WF30.. LS 20 006 02 01
L |
63 , 112 Bs | ADS
LB 58 AD
40
e © @
4%”/ =l ‘ ‘ s 242
T N\g- [ SBW |- — — -2 © of ]| = °
? e e N 10 &= ]
) | , —— = |
DIN 332
100 107 DR M6
0 20 "7
w 8 805 605 o
N =
+ ‘ ;
—‘ ﬁ\AAA..—
g 20"
4»4‘«
11
1SO 4017 106
M6x16-8.8
o120 M5,
8
s
o ©
S _A_-=°
[ 5 ©
(— []] 102)] DRe3..
AC 132
AD 105
ADS 105
L 324
LS 379
LB 149
LBS 204
504 — GM2004




LTa _
IS |
WA30.. |
13
LS -
L ‘ ADS
6305 112 BS | 63.5 AD
LB 16 25
\
[{(=]
{ E, ‘ | ‘ =
- ) \ 1 [ P N & | *
2zl of T 1® %E@@W B é — L 1
=2 R 9
Ca T Tie 09| 255
30| | | 90 ‘
35| 107 ‘
|
70
100
a 20 H7
6 . 60.5 , 60.5
e} rht — O $
NN A—1— S
020" !
L.
11
1SO 4017
M6x16-8.8 106
(- []] 102)| DR63.. | DT71D | DT80..
AC 132 145 145
AD 105 122 122
ADS 105 127 127
L 324 339 389
LS 379 402 452
LB 149 164 214
LBS 204 227 277

— GM2004

505




— GM2004

506




